



07/17/2024 09:00 AM | Install Day 1 Foyer 07/18/2024 09:00 AM | Install Day 2 07/19/2024 09:00 AM | Install Day 3 07/20/2024 09:00 AM | Event Date

07/21/2024 09:00 AM | Strike

PO: Shipping Address: Beverly HIlls Hotel Marks Garden 13838 Ventura Blvd. Sherman Oaks, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Rodeo Foyer - C	ocktails				
	Stock Off White Draping foyer and ballroom, valance in included	1	\$10,200.00	T	\$10,200.00
	Bora Bora 12' Square Bars with rounded edges mix of stock and custom bar pieces, wallpaper in alcove, paint color tbd	2	\$12,000.00	Т	\$24,000.00
	Custom Barbacks Alcoves Square - 7'H rose gold foil inside alcoves, LED strip light inside top alcoves only battery operated unless there is flicker,	2	\$4,000.00	Т	\$8,000.00
	Buffets & Display Tables - Boston - Buffet 12' with custom wallpaper insert 12'W x 31"L x 30"H - Color Upon Request	4	\$1,300.00	Т	\$5,200.00
	Sofas - Beirut - Curvy Blush Velvet we own 4, 1 is being repaired 102"W x 32"D x 26"H	3	\$500.00	T	\$1,500.00
	Additional Beirut Curvy Sofa being Repaired	1	\$500.00	Т	\$500.00
6	Club & Lounge Chairs - Beirut - Blush Velvet 30"W x 32"D x 27"H	8	\$360.00	Т	\$2,880.00
	Ottomans - Beirut - Blush Velvet 20"D x 16"H	8	\$90.00	Т	\$720.00
	Sofas - Buenos Aires - 4pc Sectional Grey all 4 pieces plus 2 more center pieces to make an L shape sectional, covered in custom blush slip covers with a silver trim on the bottom instead of gold 10' 2" X 9' 6"	1	\$3,400.00	Т	\$3,400.00
	Banquettes - Pasadena - Straight Oatmeal Chenille 6' with blush cover, placed on stage 6'W x 29"L x 38"H	3	\$950.00	Т	\$2,850.00
	Coffee Tables - Paris - Chrome 36"W x 21"W x 17"h	9	\$200.00	Т	\$1,800.00

Description		Qtty	Price		Total
H	Accent Table - Paris - Chrome 19.5"W x 15.5"L x 22"H	6	\$100.00	Т	\$600.00
	Stock - Accent Pillows	40	\$35.00	Т	\$1,400.00
T	Small Dining Tables - Oslo - Bistro Table Brass W/ Marble Top 39.5"Diam x 29.5"H	6	\$250.00	Т	\$1,500.00
		Total Pod	leo Foyer - Cockta	aile	\$64,550.00
Crystal Foyer		TOTAL ROO	leo royei - Cocki	alis	\$04,330.00
orystal i oyel	Perimeter Draping - Full Room Draping Off white sheer chiffon with backing, valance included	1	\$7,900.00	Т	\$7,900.00
	Bar Cover - Beverly Hills Hotel Existing Bar Custom Covers NEW COVER - front and top WITH WALL PAPER 9'7"L x 43"W - Custom @ Bh Hotel	1	\$4,000.00	Т	\$4,000.00
			Total Crystal Fo	yer	\$11,900.00
Crystal Lawn - 0	Ceremony				
	8' Table For Kippahs	1	\$500.00	Т	\$500.00
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	300	\$28.00	Т	\$8,400.00
	Custom Made Aspen Chairs	30	\$420.00	Т	\$12,600.00
		Total Crystal Lawn - Ceremony			\$21,500.00
Crystal Ballroon	n -Reception				
	Stock Perimeter Draping Off white sheer chiffon with backing, valance included	1	\$12,000.00	Т	\$12,000.00
	Stage Fronts - Bora Bora - Wood & Rattan Alcove pewter foil insert, paint color TBD 6'W x 12"L x 20"H	6	\$450.00	T	\$2,700.00
	Custom Cladding For Truss Legs - 13'H x 12" arcade white high gloss	10	\$1,100.00	Т	\$11,000.00
	Custom Cladding For Cross Truss - 12" 2-34' x 12", 2-32' x 12"	1	\$11,000.00	T	\$11,000.00
	Chandeliers - Versailles - 2 Tears Basket Medium 53"W x 57"H - 100 lb - 1,2275 watts	7	\$1,000.00	Т	\$7,000.00
	Chandeliers - Versailles - 3 Tears Basket Medium 53"W x 63"H - Weight 106 Lb - 1,175 Watts	7	\$1,000.00	Т	\$7,000.00

Description		Qtty	Price		Total
	Chandeliers - Versailles - 2 Tears Basket Small 44"W x 47"H - 70 Lb - 1,025 watts	5	\$900.00	T	\$4,500.00
ale)	Chandeliers - Versailles- 3 Tear Basket Small 44"W x 53"H - Weight 80 Lb - 950 watts	5	\$900.00	T	\$4,500.00
	Sconces - 26"H x 6"W x Chrome & Crystal	4	\$420.00	Т	\$1,680.00
	Bars - Bruges -tiered - Multicolor - 8' painted high gloss white 8' x 30" x 42"1/4H	4	\$900.00	T	\$3,600.00
	Barback - Curved Alcoves W/ Shelves 2- 8'W sections with wallpaper, *placed with 8' bruges bars by the stage*	1	\$2,600.00	Т	\$2,600.00
	Barback - Tokyo - Straight Basic 4' - Metal W/ Legs underneath balconies, check heigh painted in silver 4'W x 18" x 8'h	2	\$250.00	Т	\$500.00
	Dining Table - Las Vegas - Colored Top & Base Round 66" painted arcade high gloss 66"Diam x 30"H - Custom Top & Base Color Upon Request	6	\$450.00	T	\$2,700.00
	Dining Table - Las Vegas - Colored Top & Base Round 72"R painted arcade high gloss	6	\$550.00	Т	\$3,300.00
	Custom 14' x 4' Nanticket - Wood Tables no middle leg	1	\$4,000.00	T	\$4,000.00
	Beverage Cart	4	\$400.00	Т	\$1,600.00
	Т	otal Crystal Ballroom -Reception		tion	\$79,680.00
Afterparty	Out on Amiro Forthal Bondon		<u> </u>		^050 00
	Custom Awning For Hot Dog Cart	1	\$850.00	T	\$850.00
Pullsheet			Total Afterpa	arty	\$850.00
			Total Pullsheet		\$0.00
Services					
	Install - Weds - Drape For Crystal Foyer + Crystal Ballroom	16	\$550.00		\$8,800.00
	Install - Thurs Drape For Rodeo Foyer+ Room & Cladding +Chandis Crystal Ballroom)	g 16	\$650.00		\$10,400.00
	Install - Friday (Ceremony + Crystal Ballroom Cont)	12	\$650.00		\$7,800.00
	Saturday	8	\$550.00		\$4,400.00
	Sunday - Strike Begins Overnight	22	\$650.00		\$14,300.00

Description	Qtty	Price	Total	
Trucks + Gas Surcharge	10	\$480.00	\$4,800.00	
Manager Fees: Production, revisions, supervisor on site, meetings, presentations, etc	1	\$6,500.00	\$6,500.00	
Wallpaper Application	1	\$1,800.00	\$1,800.00	
Flameproof Certification	1	\$3,000.00	\$3,000.00	
Please make checks payable to Revelry, Inc.		Total Products:	\$178,480.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		abor/Services/Misc:	\$61,800.00	
		Wear & Tear (3.00%):		
·	Packing (2.00%):		\$3,569.60	
Notes		Taxes (tax excempt):		
		Discounts:	(\$0.00)	
		Total:	\$249,204.00	
		Payments:	(\$0.00)	
		Balance:	\$249,204.00	